180 marks

Answer all questions.

All questions carry equal marks.
iven below.
bonus of €2,000in

Question 16 'nformaﬁon g
(a) (i) Compile the budget for Cara Fearon based on the!

to earn a
« Cara earns a monthly salary of €3,200 and expects

September.
e She will receive a dividen
e Her house mortgage of €1,250
e House insurance is €600 per year

e Health insurance is €110 per month. _ N .
« Groceries are €480 per month, except in December when they will be an additional €400.
t in November when a car

e Car running costs areé expected to be €85 per month, excep
service will cost an additional €200.

« Household charges will amount to €200 per month.

e Presents will cost €60 in September and €850 in December.

e Entertainment costs are expected to be €300 per month.

e A holiday in September will cost €1,250.

Cara Fearon Sept Oct Nov | Dec TOTAL

PLANNED INCOME

Cara Fearon —salary
Dividend on shares
TOTAL INCOME
PLANNED EXPENDITURE
Fixed

House mortgage

November.

hares of €800 in
dons from1 October.

decreases by 2%
and is payable monthly.

House insurance

Health insurance
Subtotal
irregular

Groceries

Car running costs
Household charges
Subtotal
Discretionary

Presents
Entertainment

Holiday
Subtotal
TOTAL EXPENDITURE :
Net cash ;
Opening cash 200
Closing cash
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n household pudget for three months,

Question 14

Complete the following €X

tract from the Quin

o R Total
| Months

(300) 450 =

, Net cash 4
: T
1

/ Opening cash 375 895 375

[ Closing cash Bon j

’! Workings
|
l

Question 15



Question 13

h their childrer”

Keith

is employed as a retail Managey .

D -

- it the first four months of 4
Keith and Janet Malone live i cork Vil r. Their inco lan for the Year;,
Janet is employed as @ substitute tea
. s //_/‘
detailed below: P ” Viar Apr - |
Jan | —
ONE FAMILY 2018 — —
MAL o - . . :
INCOME P |
e .0 | 2500 2,500 2500 | A
Salary — Keith 3,500 /_—"_____ — |
1,480 ;
Salary — Janet 2,980 2,980
20 a0 |
4
Child Benefit 420 420
T~
Total Income

(a) Complete thei

(b) The child benefit rate

ncome plan for the Malone family above.

in Ireland is paid at €140 per child per month. Based on this information, §

calculate how many children the Malone family will receive child benefit for.

Workings:

Answer:




pudget for four months.

Question 13 i
5
Complete the following extract from the Keogh hou
/ _____———/T’
Month May June July August Tm
/// sl
Net cash 400 500 400 650 o
Opening cash 600 1,000 —
Closing cash 1500 i
Workings:
5
__/
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